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=] #
HETA 2% _ B - AR B
s E % & % (kv F10)
FER 7,302 6. 246 1,056 16.9 1
EAT 152 190 A 38 A 200
Ik 4,077 4277 | A 200 A 47 3
miET 5. 305 6043 | A 648 4 10.7 2
gL 235 222 13 5.9
KEET 950 1190 | & 240 4 20.2
L 3,042 3.473 | A 431 A 12.4 6
THET 1,014 1,052 A 38 A36
R R 261 475 A4 A20
RET 1107 1680 | A 573 A 341
AT 635 885 | A 250 A 28.2
R 312 336 A2 Al
BT 292 180 | A 188 A 30.2
EEHH 1,203 1378 | A 175 4 12.7
A 4,019 4,082 A63  AlS 4
BAT 40 35 5 12.3
TR 1597 1865 | A 268 A 14.4 9
il 3131 2,301 830 36. 1 5
INFAET 1,655 1,649 6 0.4 8
AT 567 722 | A 155 A 21.5
BE I 08 133 A 35 A 263
S A 837 734 103 12.0
EEth 428 571 A 123 A 250
=2t 299 214 85 39.7
AR 1.766 1287 479 37.2 7
AT 766 779 A3 Al7
W wT 823 616 207 33.6
& 232 224 8 3.6
AL 1239 1,304 A 66 AG50 10
T 159 236 A7l A 326
=B 256 296 A4 A 135
AR 135 108 27 250
mET 116 04 22 23.4
EIH 285 329 A4 A 134
\LE 168 150 18 12,0
W Hh 131 133 A2 ALlS
AEEET 277 201 76 37.8




(B 7. %)

= =
HEMEE B - AR .
T E )N E e x
7 /2 $LH] 133 139 A6 443
i) 79 54 25 46. 3
T 16 12 4 33.3
Z AT 42 45 A 3 A 6.7
ST 52 28 2 85,7
A+ABH 36 39 A 3 A 7]
= BT 27 15 12 80.0
FE 2 HT 88 58 30 51.7
— = AT 75 162 A 87 A 53.7
B SR AT 19 48 A 29 A 60.4
£ 4 £ 51 50 1 2.0
=) 31 47 A 16 A 34.0
EARAT 9 3 i 2.5
£ AT 13 19 A6 436
KZEMR 21 47 A 21 A 50.0
pp— 36 21 15 71.4
$EE AT 17 30 A 13 A 43.3
Ok 45, 201 45, 990 A 789 A 1.7
ARERET 745 817 A 72 A 8.8
& & 45 946 46, 807 A 3861 A 1.8




